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Question 3

@) £(-6)= f(-2)+ [ f()dx =7 [ flx)dx=7-4=3

F&)= f(-)+ [ f(x)de=T-27+3=10-27

(b) f'(x) > 0 on the intervals [—-6, —2) and (2, 5).

Therefore, f is increasing on the intervals [—6, —2] and [2, 5].

(c) The absolute minimum will occur at a critical point where f"(x) =0
or at an endpoint.

fl(x)=0=>x=-2,x=2

X f(x)
-6 3
-2 7

2 7-2r
5 10 - 27

The absolute minimum value is f(2) = 7 — 2.

(@ f'(=5)= —62—;(22) = —%

LG ENLE)
3

X —

=2 and 1imw:—l

x—3" x—3% x=3

f"(3) does not exist because
lim L =SQ) |y, S =C)

x—3" X = x—3% x=3
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1 : uses initial condition
1 £(-6)
15 /(5)

: answer with justification

5. 1 : considers x = 2

2:

" | 1 : answer with justification

s 17(5)
1: f"(3) does not exist,
with explanation
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